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Seat No.: Enrolment No.

Subject Code: 362403

GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING - SEMESTER-VI « EXAMINATION — WINTER * 2014
Date: 02-12-2014

Subject Name: Microcontroller and Microprocessor

Time: 02:30 pm - 05:00 pm

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
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Give any five points in comparison of microcontroller and microprocessor.
Draw block diagram of microcontroller 8051.

Explain internal memory organization of 8051 with neat sketch.

Draw Program Status Word register of 8051 and give functions of any four bit.
OR

Draw pin diagram of 8051. Show each pin name & no. in diagram.

Explains stack operation in 8051 with neat sketches.
Write working of port PO with suitable example for input and output.
OR
List registers are affected upon reset. Also Write status of various register on
reset.
List any four bit manipulation instructions in 8051 and give format and
use of any two instructions with example.

List addressing modes of 8051. Give functions of register and direct addressing
mode with example.
Write a program to add two 16 bit numbers. The numbers 8465h and
57B5h. Place the sum in R1, R2 and R3. R1 should have the lower byte.
OR
List addressing modes of 8051. Give functions of indirect and immediate
addressing mode with example.
Write a program to load ACC with value 07h and complement 750 times.

Write a program to find no of 1’s from the data stored in register R5 and
store result in R6. R5 contains 76H.
Write a program to rotate stepper motor continuously with 8051. Assume any
delay do not consider speed.
OR
Al kHz square-wave signal is to be generated from
pin 7 on port 1. The microcontroller clock frequency is 11.0592 MHz
(1) Determine the required delay time.
(2) Using timer 0 determine the base numbers that must go into THO
and TLO.
A microcontroller having an 11.0592MHz clock is to be used to
generate a 1 kHz square-wave signal from pin 7 of port 1. Write a suitable
assembly program to achieve this.

*kkkhkkhhkkikikx

Total Marks: 70
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coUq oll AZ{oL WS AVll. @R Aal slarse WJALaL 1S of sl GelgRWl
UL Auenal.
A 15 ofle of oll AR sl H2 ol YUH AV, A ol 8465h U 57B5h.
8. acllol R1, R2 3ol R3 HL Ysl. R1 HL AlRAR ollgse Ysl.

ual
couq ol AJAL WS vl BotslaRse wal sHlslAz Aot As of stal
Bele0L AUl YHs A
ACC Ml 07h 4§l Aal 750 crcd slclANe sall HI2 oll YoUH AWl

R5 ML 2R sl 32l Hiell 1 3ectl 8 A ual R oll YouH Avl sl
wllol R6 HL 45l R5 Ml 76H 8.
couq Yl RUR HleR Uddt A2 sall M2 YaUH dvll. oA a SlA e sl
wal WS BELR AN A AL AU,

ual
1 kHz oll ¥R Ad Weé 4 ol Mt 9 MLl %128 $2clloll B. HIBSSA AR ofl
scAls glscll 11.0592 MHz B.
(1) %33 elFuslA L.
(2) 2BHR 0 oll GUAL HZ Aol W THO el TLO HL 58 (EHd ottvicll
ud A 0.
1 kHz oll ¥Rk Ad W 1 ofl At 9 Wl ot scllall B. HIBSEAAR ofl
scls slscil 11.0592 MHz 8. Aell HI2 %3231 YloUH cull.
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